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DECE-3 : SERVICES AND PROGRAMMES 
FOR CHILDREN 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any five questions. 

1. You have been asked to evaluate a preschool with 

respect to the educational ideas given by thinkers 

and philosophers. Name any four thinkers whose 

ideas you will use to evaluate the preschool. 

Describe the ideas of each the four thinkers you 

will use for evaluating the preschool. 	4x5=20 

2. A mother of a five year old child with moderate 

mental retardation asks you for advice regarding 

how she can teach various tasks and activities to 

her child at home ? 

(a) Describe four characteristics of the child 	4 
which may be making it difficult for her to 

learn the tasks and activities. 

(b) State six principles that you will ask the 	6 
mother to keep in mind while teaching a 

task or activity to her child. 
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(c) What would you suggest to the mother 10 

regarding how she may help the child 

develop skills and abilities in the areas of : 

(i) dressing and undressing 

(ii) language 

	

3. 	(a) State five difficulties that a child with 

cerebral palsy may experience in learning 

at your preschool centre with respect to 

each difficulty. State the adjustments and 

adaptations you will make in your activities 

at the centre. 	 5+5=10 

(b) State one indicator / sign each at each of 
	

5 
the following ages which will indicate to you 

that the child may have difficulty in 

hearing : 

(i) At birth 

(ii) By one month 

(iii) By three months 

(iv) By six months 

(v) By nine months 

(c) List 5 signs that a parent or an ECCE 	5 

workers should pay attention to for 

identifying visual impairment in the child. 

	

4. 	(a) Describe the features of an effective 2+1 
message. Keeping these features in mind 

formulate any one message you would like 

to impart regarding early childhood love 

and education. 
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(b) To whom will you communicate this 1+2 

message ? Why have you choosen this 

message for this target audience ? 

(c) What strategy and method of 5+5 

communication will you use to convey this 

message to the target audience ? Explain in 

detail giving reasons for your choice. 

(d) Identify four barriers in the communication 	4 

process that can prevent you from 

effectively communicating your message. 

	

5. 	(a) Describe the various settings within which 	6 

children with special needs can receive early 

childhood education in our country. 

(b) Comment on the quality and coverage of 	6 

these services. 

(c) Describe any two emotional states 4 + 4 
experienced by parents of child with 

disability. 

	

6. 	You have read in detail about one government 

programme in ECCE and one programme run by 

the voluntary sector in ECCE ? 

(a) Name these two programmes. 	 1+1 

(b) State the target group for each programme. 1+1 

(c) For each programme state four aspects 

which you think are the programme's 

strengths or positive aspects and four 

aspects which are the programme's 

limitations or weak aspects. 	 8+8=16 
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7. 	Write short notes on any four in about 300 words : 

(a) Fostering cognitive development of visually 
impaired child. 	 4x5=20 

(b) Meaning of special education and its 
features. 

(c) Managing a child with temper tantrum. 

(d) Characteristics of a good supervisor. 

(e) Rationale / Justification for ECCE services 

in India. 

(f) Effects of labelling children with special 

needs. 

DECE-3 	 4 



vrtivw tai tgi.Trg 7-4 fir r st<"1 HI 

Trgt-d 

T4, 2012 

eivx4). 	 .1(41 .- 	chi gtoi 

÷/J-/q : 3 
	

affd-gr 	: 100 

ch.67 teaM 	Ii sitH 	/ 

1. 317E4 rei-clitch • 3117 qR 	 gRi 1 	77 WO* fq-w- 

311tITT ":17 Inc TT4 	1-r-fictri cht4 

"FRIT t I f--*- 1 	ralikchi * 	fwa* 

f-qq-R)'*r N41,1 aTrtr -qrr-orck-4   cm4 

kit. c4, I =114 rcImIRchi 	f-dqt *r auk -41—A7 

-rwiwr Malhi 3Trq 7rroTEL-4 4)-q 	4raimti a.)4* 

ch-P I 4x5=20 

2. 7:1frfff 1-11-1 	qcti clic; 14 c 	ag 	TIT 3TEr4 

'ER ITT fatIT5r .4,14 at'R Trraf---444 

t? 	-44tT 14 aTicf TEd7 4111 t I 

(a) et 	 TR 

mid 	qrctrafir$ 475-4 74 -w1-3-9-r- 	•WT 

1:1Wth t I 

DECE-3 	 5 	 P.T.O. 



(b) c;44 chi4f*Trreetrzir  6 

ft 	TF[7 aTrcriTi tzfrff 4 (isi4t. 1 	i we4 

(c) r14-1 (Ad -)-q 4 .0.4 	-0.4TF 3 	ci, 	10 
Pi* k-lcf .1-A -4 Tit 44 44qq 	Trwth t 

‘4 31-Fr 	azrr Trp 	? 

(i) a 	(4-1-11 3th 3c11(-II 

(ii) 4̀41151f 

3. 	(a) 	31-rcrk 7rr-o-rtE4 -q 	-9-1:rfRr5!F'Errff 

Tr1-1N4 aTTrq 	 t di4 
tfN al I uret 	 31-Fr 

3Tcrt  	qrctrafW 4 air t-11-114)•11 3th 

tc-licRul W.1).--Td-1-47I 	 5+5=10 
(b) 	(00 SET4 	(31-45)  	5 

Tr4W/FWI .4-d-r 	7g-  'ea-rtfw al-rtrk 	 
	Tf4tft 	 t : 

(i) 1:11:171 

(ii)  

(iii) -T17 TIT 

(iv) w6 -141-6uw 

(v) -grg 

DECE-3 	 6 



(c) 	31R:I tfl talciY (kiEr11) Aft ton 64-iwk 
	5 

fee. tErwr 	oin4 	1.1.4 Trrai-fiTur 

-zrr 	enitictmi 	tzfrff -t9-r 

4. 	(a) 514.1-11. tiZki 	f-dttifATA 	(Au W--R I T 2+1 

fa-tErdr4 a t tzfli "4 testa -F 	D,w Vtvr 

-41-4R -q) 31r7 	A-r-eTwqr 41irm. 

tur*.#4t1-434-111t-qTreill 

(b) 3IP4 	4aki 14A-1 	? 31T74 74.k-7r--t1 dr * 1+2 

(c) zff kiaki Tar-Erff cht4 * fMl 31rEr 5+5 

11•f ft cbtei-tlicr 3 	ici 	itT WI 941 

ct) 	 ? 3174 mitil 4)10( 	faRrR 14 auk 

SR I  

(d) 4,w 31fs it art 	.410 aar T al air:* 	4 

4 kr *I3tirrtt-114 #311-Erd crik 	44.) 

	

5. (a) 39. faf1:1M0 	auk W-4R 	ti 	6 

aTraww-dT311 11(.1 	» 1-111 -b-T 11 vrtfiT 

4fF;1141:41fmr sri7r 	kicha t 

(b) 4.1[311 .1-11171-ffl 31R 	717f-6173ft W-A7I 	6 

(c) 31k7f Git4 Trr-dr-Ricci 51-r 4Trarc 	fp2rW 

tot t z--44 	*-r auk 117R1 	4+ 4 

DECE-3 	 7 	 P.T.O. 



6. 	3 t7#2:111. 	31--"Tfd.  Wa-)R gill -c4OR -qf 

chi A-0431-17 tT11-.711-. 	OF ,,.94) 	k,-)7 gill 

(a) c1.1i chi49b41 	r ff77 I 	 1+1 

(b) 17-4 c11149b1-I 	TI17 .q777 I 	 1+1 

(c) 1;17)-T ch I 9i1 	R 	 aTrErk 

4 cm A-)ii 	-q-r 	1T6qt 3-th 

Lllt 9---6q --67R 7r ch1454,4 ci-)1 TnTrilzrr 

7-6qt I 	 8+8=16 

7. 	I:14-i 	l f toc-f 14 77 r.itx,  Lit (0,1 9-1-7 300 -w-  4) Tffk-rEff 

fzwf~l~~ fry 	: 	 4x5=20 

(a) q.) (4 	47n-11c-401 fq-*-1Tf 

-II I 

(b) fad Pi ii 	31-4 3t-{ Tw*-1- 	I 

(c) 911 407f c 	f9lia7T I 

(d) 17:1*Tc 	 I 	tic14i 

(e) 9.1-R-ff 4 t4-.41.t 4-qraW .wrff-*-NTR/-I  

(f) 3Tra-Fr*---d-r4 	 crA 

TfITT I 

DECE-3 	 8 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

